1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

1 INS: S 48F 2 BHO) -15 2 NS: BREE E18H(BAC) 12 VP:| 4.25 15.75| Total VP: 4.25 Rank:
EW: 2308 SIBFEEAC) -12 EW: BB 4L % (FH0) 15 IMP:| 12 31 10
. —
#1 a9 5SE-2 100 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 640 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-150 140  5SXE-2 300 40 1 v?2 5DS7 640 730 A 00 4
¢ T65 Dif: 50 NS:-1 A 00 4 o A76432 Dif: 0 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: 2 EW:3 5SE-2 100 1.0 2 # J853 IMP: 0 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
e VABN ,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 2SN2 110 Mean: 3HS3 140 10 1 ||# 4 a7 3SW4 -170 Mean: 3SW4 170 8.0 2
v AJ75 1NW-1100 110  3HN3 140 1.0 2 v T32 3NW4 -630 -500 A 00 4
¢ J97 Dif: 10 NS:0 A 00 4 ¢ QJT86543 Dif: 460 NS:8 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:0 2SN2 110 0.0 1 a4 IMP: 10 EW:4 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
e VAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 4HS-2 -200 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 4SN-2 -100 Mean: 4SN5 450 8.0 2
v 987 4HS4 620 190  4HS4 620 100 2 v A6 4SN5450 130 A 00 4
32 Dif: -820 NS:-9 A 00 4 ¢ QT32 Dif: -550 NS:-6 3SN3 140 00 1
& AJ652 IMP: -13 EW:-10 3HS3 140 20 3 a4 IMP: -11 EW:-8 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
* KJT64 * Q95 * KJ ¢ 754 4SN-2 -100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 d*¢VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 -650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 4SW6 -480 Mean: 4SW5 -450 4.0 4
v K9842 4SW5 -650 -580 A 00 4 v 63 4SW5 -450 -590 4SW6 -480 3.0 2
* AK Dif: 0 NS:-2 4sw4 620 1.0 1 » KQJ2 Dif: -30 NS:3 A 00 4
& J642 IMP: 0 EW:2 4SW5 650 2.0 6 & K532 IMP: -1 EW:-4 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 T & J64
FOVAN 4,43 T eVAN 4
N1~~~~e5 N ~~~~~ v KT875
S 1~~~ ~ 4096532 S ~~~~~ + T965
E ~~254 &A953 E ~~~523 &Qo87
~~254 W ~~~53
#9 a T82 3NW3 -600 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 3HS-1-100 Mean: 3HS3 140 40 2
v 8432 3NW3 -600 -520 A 00 4 v T765 3HS3 140 0 4CW-1 100 30 1
¢ Q63 Dif: 0 NS:-2 3NW3 600 20 3 + KQ963 Dif: -240 NS:-3 3NW-1 100 30 1
& KQT IMP: 0 EW:2 3NE3 600 2.0 2 & J7 IMP: -6 EW:-4 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 %oV AN 4 KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl

#1: 6 F= 44120 #2: 2 BB 52(15.75) #3: 8 YM twister(14)

2 NS: BEEZE HEHEAC) 12 1 NS: 25 &£ F5(B0) -14 VP:| 15.75 : 4.25 Total VP: 15.75 Rank:
EW: Bi=% 02Z2(BH0) 15 EW: &30& SEBUR(EAC) 1 IMP:| 31 12 2
. —
#1 a9 5SE-2 -100 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 -640 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-1-50 140  5SXE-2 300 40 1 v?2 5DS7 -640 730 A 00 4
¢ T65 Dif: -50 NS:-3 A 00 4 o A76432 Dif: 0 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: -2 EW:1 5SE-2 100 1.0 2 # J853 IMP: 0 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 2SN2 -110 Mean: 3HS3 140 10 1 ||# 4 a7 3SW4 170 Mean: 3SW4 170 8.0 2
v AJ75 1NW-1-100 110  3HN3 140 1.0 2 v T32 3NW4 630 -500 A 00 4
¢ J97 Dif: 10 NS:-0 A 00 4 ¢+ QJT86543 Dif: -460 NS:-4 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:-0 2SN2 110 0.0 1 a4 IMP: -10 EW:-8 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 4HS-2 200 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 4SN-2 100 Mean: 4SN5 450 8.0 2
v 987 4HS4 -620 190  4HS4 620 100 2 v A6 4SN5 -450 130 A 00 4
¢ 32 Dif: 820 NS:10 A 00 4 ¢ QT32 Dif: 550 NS:8 3SN3 140 00 1
& AJB52 IMP: 13 EW:9 3HS3 140 20 3 a4 IMP: 11 EW:6 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 50 2
* KJT64 ¢ Q95 * KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 % ¢ VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 4SW6 480 Mean: 4SW5 -450 4.0 4
v K9842 4SW5 650 -580 A 00 4 v 63 4SW5 450 -590 4SW6 -480 3.0 2
¢ AK Dif: 0 NS:-2 4sw4 620 1.0 1 » KQJ2 Dif: 30 NS:4 A 00 4
& J642 IMP: 0 EW:2 4SW5 650 20 6 & K532 IMP: 1 EW:-3 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 FOVAN ,
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 3NW3 600 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 3HS-1100 Mean: 3HS3 140 40 2
v 8432 3NW3 600 -520 A 00 4 v T765 3HS3 -140 0 4CW-1 100 30 1
¢ Q63 Dif: 0 NS:-2 3NW3 600 20 3 + KQ963 Dif: 240 NS:4 3NW-1 100 30 1
& KQT IMP: 0 EW:2 3NE3 600 20 2 a J7 IMP: 6 EW:3 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 % ¢ VBN 4, K643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

3 NS: 3£ #FEBEHO) -15 4 NS: R{Z5 #I#¥(BiC) 1 VP:| 7.82 12.18| Total VP: 7.82 Rank:
EW: SERER ZI¥/KERAC) -1 EW: B5REA #R4E1E(FFO) 15 IMP:| 21 27 8
—
#1 a9 4HN5 450 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 640 Mean: 6DS7 1390 12.0 1
v KQ986 5SXE-2 300 140  5SXE-2 300 40 1 v?2 5DS7 640 730 A 00 4
¢ T65 Dif: 150 NS:7 A 00 4 o A76432 Dif: 0 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: 4 EW:-4 5SE-2 100 1.0 2 # J853 IMP: 0 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
e VABN ,Q62 % ¢ VAN 4, AKQS
N 5~5~~ 9AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 1NW-1 100 Mean: 3HS3 140 1.0 1 |[|# 4 aT 4SW4 -620 Mean: 3SW4 170 8.0 2
v AJ75 1NW-1100 110  3HN3 140 1.0 2 v T32 5CXWS5 -750 -500 A 00 4
¢ J97 Dif: 0 NS:0 A 00 4 ¢ QJT86543 Dif: 130 NS:-3 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:0 2SN2 110 0.0 1 a4 IMP: 4 EW:6 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
e VAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &QJ73 E 4~~42 aK65
-]~~~ W 4~~42
#5 » J93 4SXE4 -590 Mean: 4HS5 650 10.0 1 ||# 6 & J97642 4SN5 450 Mean: 4SN5 450 8.0 2
v 987 4HS4 620 190  4HS4 620 100 2 v A6 2SN2110 130 A 00 4
32 Dif: -1210 NS:-13 A 00 4 ¢ QT32 Dif: 340 NS:8 3SN3 140 00 1
& AJ652 IMP: -15 EW:-10 3HS3 140 20 3 a4 IMP: 8 EW:1 2SN3 140 00 1
& 6542 » KQT7 4HS-2 200 9.0 1 [|aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 50 2
* KJT64 ¢ Q95 * KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 eV AN 4o AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1~3~2 ¢A87 S ~4~42 ¢ A986
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 -650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 6SW6 -980 Mean: 4SW5 -450 4.0 4
v K9842 4SW5 -650 -580 A 00 4 v 63 4SW5 -450 -590 4SW6 -480 3.0 2
* AK Dif: 0 NS:-2 4sw4 620 1.0 1 » KQJ2 Dif: -530 NS:-9 A 00 4
& J642 IMP: 0 EW:2 4SW5 650 2.0 6 & K532 IMP: -11 EW:-4 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 FOVAN ,
N 1~~~~¢5 N ~~~~~ v KT875
S 1~~~ ~ 4096532 S ~~~~~ + T965
E ~~254 &A953 E ~~~523 &Qo87
~~254 W ~~~53
#9 a T82 3NE4 -630 Mean: 4SW-1 100 120 1 |[|# 10 a Q2 3NW-1 100 Mean: 3HS3 140 40 2
v 8432 3NW3 -600 -520 A 00 4 v T765 1NN-1-100 0 4CW-1 100 3.0 1
+ Q63 Dif: -30 NS:-3 3NW3 600 20 3 » KQ963 Dif: 200 NS:3  3NW-1 100 3.0 1
& KQT IMP: -1 EW:2 3NE3 600 20 2 a J7 IMP: 5 EW:3 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢ VAN 4643 % ¢ VAN 4 KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl

#1: 6 F= 44120 #2: 2 BB 52(15.75) #3: 8 YM twister(14)

4 NS: B—5% B EEEAC) 1 3 NS: #B{E3 F &7 (BAO) -14 VP:| 1218 : 7.82 Total VP: 12.18 Rank:
EW: FEs=2EH $h#1EEE0) 15 EW: ZZ#ET5 ZI3¥K(BAC) 1 IMP:| 27 21 4
—
#1 a9 4HN5 -450 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 -640 Mean: 6DS7 1390 12.0 1
v KQ986 5SXE-2 -300 140  5SXE-2 300 40 1 v?2 5DS7 -640 730 A 00 4
¢ T65 Dif: -150 NS:4 A 00 4 o A76432 Dif: 0 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: -4 EW:-7 5SE-2 100 1.0 2 # J853 IMP: 0 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
e VABN ,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 1NW-1 -100 Mean: 3HS3 140 10 1 ||# 4 a7 4SW4 620 Mean: 3SW4 170 8.0 2
v AJ75 1NW-1-100 110  3HN3 140 1.0 2 v T32 5CXW5750 -500 A 00 4
¢ J97 Dif: 0 NS:-0 A 00 4 ¢ QJT86543 Dif: -130 NS:-6 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:-0 2SN2 110 0.0 1 a4 IMP: -4 EW:3 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
e VAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 4SXE4 590 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 4SN5 -450 Mean: 4SN5 450 8.0 2
v 987 4HS4 -620 190  4HS4 620 100 2 v A6 2SN2 -110 130 A 00 4
32 Dif: 1210 NS:10 A 00 4 ¢ QT32 Dif: -340 NS:-1 3SN3 140 00 1
& AJ652 IMP: 15 EW:13 3HS3 140 20 3 a4 IMP: -8 EW:-8 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
* KJT64 * Q95 * KJ ¢ 754 4SN-2 -100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 d*¢VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 6SW6 980 Mean: 4SW5 -450 4.0 4
v K9842 4SW5 650 -580 A 00 4 v 63 4SW5 450 -590 4SW6 -480 3.0 2
* AK Dif: 0 NS:-2 4sw4 620 1.0 1 » KQJ2 Dif: 530 NS:4 A 00 4
& J642 IMP: 0 EW:2 4SW5 650 2.0 6 & K532 IMP: 11 EW:9 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 T eVAN 4
N 1~~~~ @5 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 a T82 3NE4 630 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 3NW-1-100 Mean: 3HS3 140 40 2
v 8432 3NW3 600 -520 A 00 4 v T765 INN-1100 o0 4CW-1 100 30 1
¢ Q63 Dif: 30 NS:-2 3NwW3 600 20 3 + KQ963 Dif: -200 NS:-3 3NW-1 100 30 1
& KQT IMP: 1 EW:3 3NE3 600 2.0 2 & J7 IMP: -5 EW:-3 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 %oV AN 4 KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

5 INS: B TTFRINEEO) -28 6 NS: #5148 ERELE5(BAC) 42| VP:| 0.00 20.00| Total VP: 0.00 Rank:
EW: BEEIE Wisk=(FFIC) -42 EW: fA5RE) #iE3R(F0) 2 IMP:| 0 63 1
. —
#1 a9 4SE-1 50 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 640 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-150 140  5SXE-2 300 40 1 v?2 6DS7 1390 730 A 00 4
¢ T65 Dif: 0 NS:-3 A 00 4 o A76432 Dif: -750 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: 0 EW:3 5SE-2 100 1.0 2 # J853 IMP: -13 EW:-12 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
e VABN ,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 3HS3 140 Mean: 3HS3 140 10 1 ||# 4 a7 4SW4 -620 Mean: 3SW4 170 8.0 2
v AJ75 3HN3 140 110  3HN3 140 1.0 2 v T32 5DXN-2 -500 -500 A 00 4
¢ J97 Dif: 0 NS:1 A 00 4 ¢ QJT86543 Dif: -120 NS:-3 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:-1 2SN2 110 0.0 1 a4 IMP: -3 EW:0 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
e VAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
]~~~ W 4~~42
#5 » J93 3HS3 140 Mean: 4HS5 650 100 1 ||# 6 » J97642 2SN3 140 Mean: 4SN5 450 80 2
v 987 4HS5650 190  4HS4 620 100 2 v A6 3SN3140 130 A 00 4
32 Dif: -510 NS:-2 A 00 4 ¢ QT32 Dif: 0 NS:0 3SN3 140 00 1
& AJ652 IMP: -11 EW:-10 3HS3 140 20 3 a4 IMP: 0 EW:0 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
* KJT64 * Q95 * KJ ¢ 754 4SN-2 -100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 d*¢VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 -650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 6SW6 -980 Mean: 4SW5 -450 4.0 4
v K9842 3SW4 -170 -580 A 00 4 v 63 4SW5 -450 -590 4SW6 -480 3.0 2
* AK Dif: -480 NS:-2 4Sw4 620 1.0 1 » KQJ2 Dif: -530 NS:-9 A 00 4
& J642 IMP: -10 EW:-9 4SW5 650 2.0 6 & K532 IMP: -11 EW:-4 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 T eVAN 4
N 1~~~~ @5 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 a T82 3NE3 -600 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 1NN-2 -200 Mean: 3HS3 140 40 2
v 8432 4SW-1100 -520 A 00 4 v T765 3CE3 -110 0 4CW-1 100 30 1
¢ Q63 Dif: -700 NsS:-2 3NW3 600 20 3 + KQ963 Dif: -90 NS:-5 3NW-1 100 30 1
& KQT IMP: -12 EW:-12 3NE3 600 2.0 2 & J7 IMP: -3 EW:3 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 %oV AN 4 KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

6 INS: $he5 1 BiEn2R(EAC) 42 5 NS: FR#ER ST (BAO) -24 VP:| 20.00 : 0.00 Total VP: 20.00 Rank:
EW: {o52&h # a3 (5E0) 28 EW: EEBIEE ERek=(RAC) -4 IMP:| 63 : O 1
. —
#1 a9 4SE-1-50 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 -640 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-1-50 140  5SXE-2 300 40 1 v?2 6DS7 -1390 730 A 00 4
¢ T65 Dif: 0 NS:-3 A 00 4 o A76432 Dif: 750 NS:12 3NS5 660 2.0 1
& KJ52 IMP: 0 EW:3 5SE-2 100 1.0 2 # J853 IMP: 13 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
e VABN ,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 3HS3 -140 Mean: 3HS3 140 10 1 ||# 4 a7 4SW4 620 Mean: 3SW4 170 8.0 2
v AJ75 3HN3 -140 110  3HN3 140 1.0 2 v T32 5DXN-2 500 -500 A 00 4
¢ J97 Dif: 0 NS:1 A 00 4 ¢ QJT86543 Dif: 120 NS:-0 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:-1 2SN2 110 0.0 1 a4 IMP: 3 EW:3 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
e VAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 3HS3 -140 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 2SN3 -140 Mean: 4SN5 450 8.0 2
v 987 4HS5 -650 190  4HS4 620 100 2 v A6 3SN3-140 130 A 00 4
32 Dif: 510 NS:10 A 00 4 ¢ QT32 Dif: 0 NS:-0 3SN3 140 00 1
& AJ652 IMP: 11 EW:2 3HS3 140 20 3 a4 IMP: 0 EW:-0 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
* KJT64 * Q95 * KJ ¢ 754 4SN-2 -100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 d*¢VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 6SW6 980 Mean: 4SW5 -450 4.0 4
v K9842 3SW4170 -580 A 00 4 v 63 4SW5 450 -590 4SW6 -480 3.0 2
* AK Dif: 480 NS:9 4Sw4 620 1.0 1 » KQJ2 Dif: 530 NS:4 A 00 4
& J642 IMP: 10 EW:2 4SW5 650 2.0 6 & K532 IMP: 11 EW:9 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 T eVAN 4
N 1~~~~ @5 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 a T82 3NE3 600 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 1NN-2 200 Mean: 3HS3 140 40 2
v 8432 4SW-1-100 -520 A 00 4 v T765 3CE3 110 0 4CW-1 100 30 1
¢ Q63 Dif: 700 NS:12 3NW3 600 20 3 + KQ963 Dif: 90 NS:-3 3NW-1 100 30 1
& KQT IMP: 12 EW:2 3NE3 600 2.0 2 & J7 IMP:3 EW:5 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 %oV AN 4 KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl

#1: 6 F= 44120 #2: 2 BB 52(15.75) #3: 8 YM twister(14)

7 INS: B FFEZ=EHO) -12 8 NS: Bi5l 32 28R (BAC) 1 VP:| 6.00 14.00 | Total VP: 6.00 Rank:
EW: =fE BE¥EAC) -1 EW: BRE2HE 5R{"15(FH0) 12 IMP:| 3 15 9
.
#1 a9 5SE-2 100 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 3NS5 660 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-150 140  5SXE-2 300 40 1 v?2 5DS7 640 730 A 00 4
¢ T65 Dif: 50 NS:-1 A 00 4 o A76432 Dif: 20 NS:-2 3NS5 660 2.0 1
& KJ52 IMP: 2 EW:3 5SE-2 100 1.0 2 # J853 IMP: 1 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 1NW-1 100 Mean: 3HS3 140 10 1 ||# 4 a7 3NW3 -600 Mean: 3SW4 170 8.0 2
v AJ75 3HN3 140 110  3HN3 140 1.0 2 v T32 3SW4-170 -500 A 00 4
¢ J97 Dif: -40 NS:0 A 00 4 ¢+ QJT86543 Dif: -430 NS:-3 5DXN-2  -500 0.0 1
& K6 IMP: -1 EW:-1 2SN2 110 0.0 1 a4 IMP: -10 EW:-8 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 3HS3 140 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 4SN-1 -50 Mean: 4SN5 450 8.0 2
v 987 3HS3140 190  4HS4 620 100 2 v A6 4SN-1-50 130 A 00 4
¢ 32 Dif: 0 NS:-2 A 00 4 ¢ QT32 Dif: 0 NS:-5 3SN3 140 00 1
& AJB52 IMP: 0 EW:2 3HS3 140 20 3 a4 IMP: 0 EW:5 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 50 2
* KJT64 ¢ Q95 * KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 % ¢ VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 -650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 4SW6 -480 Mean: 4SW5 -450 4.0 4
v K9842 4SW4 -620 -580 A 00 4 v 63 4SW5 -450 -590 4SW6 -480 3.0 2
¢ AK Dif: -30 NS:-2 4Sw4 620 1.0 1 » KQJ2 Dif: -30 NS:3 A 00 4
& J642 IMP: -1 EW:1 4SW5 650 20 6 & K532 IMP: -1 EW:-4 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 FOVAN ,
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 3NE4 -630 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 4CW-1100 Mean: 3HS3 140 40 2
v 8432 3NE3 -600 -520 A 00 4 v T765 3HS3 140 0 4CW-1 100 30 1
¢ Q63 Dif: -30 NS:-3 3NW3 600 20 3 + KQ963 Dif: -40 NS:3 3NW-1 100 30 1
& KQT IMP: -1 EW:2 3NE3 600 20 2 a J7 IMP: -1 EW:-4 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 % ¢ VBN 4, K643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

8 NS: ¥R 25852 (BAC) 1 7 NS: 5235 FFmmEE(BAO) -14 VP:| 14.00 : 6.00 Total VP: 14.00 Rank:
EW: BEEEE R{—{Z(EH0) 12 EW: EHE REM(EAC) 1 IMP:| 15 : 3 3
.
#1 a9 5SE-2 -100 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 3NS5 -660 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-1-50 140  5SXE-2 300 40 1 v?2 5DS7 -640 730 A 00 4
¢ T65 Dif: -50 NS:-3 A 00 4 o A76432 Dif: -20 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: -2 EW:1 5SE-2 100 1.0 2 # J853 IMP: -1 EW:2 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 1NW-1 -100 Mean: 3HS3 140 10 1 ||# 4 a7 3NW3 600 Mean: 3SW4 170 8.0 2
v AJ75 3HN3 -140 110  3HN3 140 1.0 2 v T32 3SW4170 -500 A 00 4
¢ J97 Dif: 40 NS:1 A 00 4 ¢+ QJT86543 Dif: 430 NS:8 5DXN-2  -500 0.0 1
& K6 IMP: 1 EW:-0 2SN2 110 0.0 1 a4 IMP: 10 EW:3 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 3HS3 -140 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 4SN-150 Mean: 4SN5 450 8.0 2
v 987 3HS3 140 190  4HS4 620 100 2 v A6 4SN-150 130 A 00 4
¢ 32 Dif: 0 NS:-2 A 00 4 ¢ QT32 Dif: 0 NS:-5 3SN3 140 00 1
& AJB52 IMP: 0 EW:2 3HS3 140 20 3 a4 IMP: 0 EW:5 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 50 2
* KJT64 ¢ Q95 * KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 % ¢ VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 4SW6 480 Mean: 4SW5 -450 4.0 4
v K9842 4SW4 620 -580 A 00 4 v 63 4SW5 450 -590 4SW6 -480 3.0 2
¢ AK Dif: 30 NS:-1  4Sw4 620 1.0 1 » KQJ2 Dif: 30 NS:4 A 00 4
& J642 IMP: 1 EW:2 4SW5 650 20 6 & K532 IMP: 1 EW:-3 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 FOVAN ,
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 3NE4 630 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 4CW-1-100 Mean: 3HS3 140 40 2
v 8432 3NE3 600 -520 A 00 4 v T765 3HS3 -140 0 4CW-1 100 30 1
¢ Q63 Dif: 30 NS:-2 3NwW3 600 20 3 + KQ963 Dif: 40 NS:4 3NW-1 100 30 1
& KQT IMP: 1 EW:3 3NE3 600 20 2 a J7 IMP: 1 EW:-3 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 % ¢ VBN 4, K643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

9 NS: (BH0)0 10 NS: (BAC)0 VP:| 12.00 : 0.00 | Total VP: 12.00 Rank:
EW: (#C)0 EW: (580) 0 IMP:)] 0 : © 5
#1 49 A Mean: 4HN5 450 7.0 1 |[# 2 » 92 A Mean: 6DS7 1390 120 1
v KQ986 A 140  5SXE-2 300 40 1 v?2 A 730 A 0.0 4
¢ T65 Dif: 0 NS:0 A 00 4 o A76432 Dif: 0 NS:0 3NS5 660 2.0 1
& KJ52 IMP: 0 EW:0 5SE-2 100 1.0 2 # J853 IMP: 0 EW:0 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KJT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 @ A763
S 5~5~~ 43 S ~7~~2 ¢ KIT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 A Mean: 3HS3 140 10 1 ||# 4 a7 A Mean: 3SW4 170 8.0 2
v AJ75 A 110  3HN3 140 1.0 2 v T32 A 500 A 00 4
¢ J97 Dif: 0 NS:0 A 00 4 + QJT86543 Dif: 0 NS:0 5DXN-2 -500 0.0 1
» K6 IMP: 0 EW:0 2SN2 10 00 1 a4 IMP: 0 EW:0 4Sw4 620 -3.0 2
a A92 # 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ o KJ987
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &4QJ73 E 4~~42 aKe5
~1~~~ W 4 ~~42
#5 » J93 A Mean: 4HS5 650 100 1 ||# 6 & J97642 A Mean: 4SN5 450 80 2
v 987 A 190  4HS4 620 100 2 v A6 A 130 A 0.0 4
¢ 32 Dif: 0 NS:0 A 00 4 ¢+ QT32 Dif: 0 NS:0 3SN3 140 00 1
& AJB52 IMP: 0 EW:0 3HS3 140 20 3 a4 IMP: 0 EW:0 2SN3 140 00 1
# 6542 & KQT7 4HS-2 200 90 1||aK  T83 2SN2 10 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
¢ KJT64 ¢ Q95 + KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 & AJ
e VAN 4,A8 P e VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 «93
S 1~3~2 ¢A87 S ~4~42 ¢ A986
E ~2~2~ &Q7 E 3~3~~ aKB652
~2~2~ W 3~3~~
#7 4 Q9 A Mean: 3SW4 170 9.0 1 ||# 8 & 854 A Mean: 4SW5 -450 40 4
v K9842 A 580 A 00 4 v 63 A 590 4SW6 480 3.0 2
¢ AK Dif: 0 NS:0 4Sw4 620 1.0 1 + KQJ2 Dif: 0 NSs:0 A 00 4
& J642 IMP: 0 EW:0 4SW5 650 2.0 6 & K532 IMP: 0 EW:0 6SW6 980 9.0 2
& AKJT75 # 862 & KQJT96 & A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢ A ¢ 8743
a» S & KQT7 AT & J64
oo VABN 4,43 o OVAN 4
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 A Mean: 4SW-1 100 120 1 [|# 10 » Q2 A Mean: 3HS3 140 40 2
v 8432 A 520 A 00 4 v T765 A o0 4CW-1 100 30 1
+ Q63 Dif: 0 NS:0 3NW3 600 20 3 + KQ963 Dif: 0 NS:0 3NW-1 100 30 1
& KQT IMP: 0 EW:0 3NE3 600 20 2 a J7 IMP: 0 EW:0 A 00 4
& AKJ75 » Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 100 3.0 1
v KJ v AT76 v A42 + v QJ 3CE3 110 -3.0 1
+ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
oo VAN 4,643 P VAN 4, KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ + KT5 S ~232~ A8
E ~4~45 &J865 E3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

1 O NS: (EC)0 9 NS: (B0)0 VP:| 0.00 12.00| Total VP: 10.00 Rank:
EW: (§0)0 EW: (BiC) 0 IMP:| 0 0 11
#1 49 A Mean: 4HN5 450 7.0 1 |[# 2 » 92 A Mean: 6DS7 1390 120 1
v KQ986 A 140  5SXE-2 300 40 1 v?2 A 730 A 0.0 4
¢ T65 Dif: 0 NS:-0 A 00 4 o A76432 Dif: 0 NS:-0 3NS5 660 2.0 1
& KJ52 IMP: 0 EW:-0 5SE-2 100 1.0 2 # J853 IMP: 0 EW:-0 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KJT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 @ A763
S 5~5~~ 43 S ~7~~2 ¢ KIT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 A Mean: 3HS3 140 10 1 ||# 4 a7 A Mean: 3SW4 170 8.0 2
v AJ75 A 110  3HN3 140 1.0 2 v T32 A 500 A 00 4
¢ J97 Dif: 0 NS:-0 A 00 4 + QJT86543 Dif: 0 NS:-0 5DXN-2  -500 0.0 1
» K6 IMP: 0 EW:-0 2SN2 10 00 1 a4 IMP: 0 EW:-0 4SwW4 620 -3.0 2
& A92 A 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ o KJ987
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &4QJ73 E 4~~42 aKe5
~1~~~ W 4 ~~42
#5 » J93 A Mean: 4HS5 650 100 1 ||# 6 & J97642 A Mean: 4SN5 450 80 2
v 987 A 190  4HS4 620 100 2 v A6 A 130 A 0.0 4
¢ 32 Dif: 0 NS:-0 A 00 4 ¢ QT32 Dif: 0 NS:-0 3SN3 140 00 1
& AJB52 IMP: 0 EW:-0 3HS3 140 20 3 a4 IMP: 0 EW:-0 2SN3 140 00 1
# 6542 & KQT7 4HS-2 200 90 1||aK  T83 2SN2 10 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
¢ KJT64 ¢ Q95 + KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 & AJ
e VAN 4,A8 P e VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 «93
S 1~3~2 ¢A87 S ~4~42 ¢ A986
E ~2~2~ &Q7 E 3~3~~ aKB652
~2~2~ W 3~3~~
#7 4 Q9 A Mean: 3SW4 170 9.0 1 ||# 8 & 854 A Mean: 4SW5 -450 40 4
v K9842 A 580 A 00 4 v 63 A 590 4SW6 480 3.0 2
¢ AK Dif: 0 NS:-0 4sw4 620 1.0 1 +» KQJ2 Dif: 0 NS:-0 A 00 4
& J642 IMP: 0 EW:-0 4SW5 650 2.0 6 & K532 IMP: 0 EW:-0 6SW6 980 9.0 2
& AKJT75 # 862 & KQJT96 & A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢ A ¢ 8743
a» S & KQT7 AT & J64
oo VABN 4,43 o OVAN 4
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 A Mean: 4SW-1 100 120 1 [|# 10 » Q2 A Mean: 3HS3 140 40 2
v 8432 A 520 A 00 4 v T765 A o0 4CW-1 100 30 1
+ Q63 Dif: 0 NS:-0 3NW3 600 20 3 + KQ963 Dif: 0 NS:-0 3NW-1 100 30 1
& KQT IMP: 0 EW:-0 3NE3 600 20 2 a J7 IMP: 0 EW:-0 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 [|a A9 » J87 3HS-1 100 3.0 1
v KJ v AT76 v A42 + v QJ 3CE3 110 -3.0 1
+ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
oo VAN 4,643 P VAN 4, KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ + KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

1 1 NS: (BH0)0 12 NS: (BAC)0 VP:| 10.00 : 10.00| Total VP: 0.00 Rank:
EW: (#C)0 EW: (580) 0 IMP:)] 0 : © 6
#1 49 A Mean: 4HN5 450 7.0 1 |[# 2 » 92 A Mean: 6DS7 1390 120 1
v KQ986 A 140  5SXE-2 300 40 1 v?2 A 730 A 0.0 4
¢ T65 Dif: 0 NS:0 A 00 4 o A76432 Dif: 0 NS:0 3NS5 660 2.0 1
& KJ52 IMP: 0 EW:0 5SE-2 100 1.0 2 # J853 IMP: 0 EW:0 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KJT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 @ A763
S 5~5~~ 43 S ~7~~2 ¢ KIT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 A Mean: 3HS3 140 10 1 ||# 4 a7 A Mean: 3SW4 170 8.0 2
v AJ75 A 110  3HN3 140 1.0 2 v T32 A 500 A 00 4
¢ J97 Dif: 0 NS:0 A 00 4 + QJT86543 Dif: 0 NS:0 5DXN-2 -500 0.0 1
» K6 IMP: 0 EW:0 2SN2 10 00 1 a4 IMP: 0 EW:0 4Sw4 620 -3.0 2
a A92 # 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ o KJ987
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &4QJ73 E 4~~42 aKe5
~1~~~ W 4 ~~42
#5 » J93 A Mean: 4HS5 650 100 1 ||# 6 & J97642 A Mean: 4SN5 450 80 2
v 987 A 190  4HS4 620 100 2 v A6 A 130 A 0.0 4
¢ 32 Dif: 0 NS:0 A 00 4 ¢+ QT32 Dif: 0 NS:0 3SN3 140 00 1
& AJB52 IMP: 0 EW:0 3HS3 140 20 3 a4 IMP: 0 EW:0 2SN3 140 00 1
# 6542 & KQT7 4HS-2 200 90 1||aK  T83 2SN2 10 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 5.0 2
¢ KJT64 ¢ Q95 + KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 & AJ
e VAN 4,A8 P e VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 «93
S 1~3~2 ¢A87 S ~4~42 ¢ A986
E ~2~2~ &Q7 E 3~3~~ aKB652
~2~2~ W 3~3~~
#7 4 Q9 A Mean: 3SW4 170 9.0 1 ||# 8 & 854 A Mean: 4SW5 -450 40 4
v K9842 A 580 A 00 4 v 63 A 590 4SW6 480 3.0 2
¢ AK Dif: 0 NS:0 4Sw4 620 1.0 1 + KQJ2 Dif: 0 NSs:0 A 00 4
& J642 IMP: 0 EW:0 4SW5 650 2.0 6 & K532 IMP: 0 EW:0 6SW6 980 9.0 2
& AKJT75 # 862 & KQJT96 & A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢ A ¢ 8743
a» S & KQT7 AT & J64
oo VABN 4,43 o OVAN 4
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 A Mean: 4SW-1 100 120 1 [|# 10 » Q2 A Mean: 3HS3 140 40 2
v 8432 A 520 A 00 4 v T765 A o0 4CW-1 100 30 1
+ Q63 Dif: 0 NS:0 3NW3 600 20 3 + KQ963 Dif: 0 NS:0 3NW-1 100 30 1
& KQT IMP: 0 EW:0 3NE3 600 20 2 a J7 IMP: 0 EW:0 A 00 4
& AKJ75 » Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 100 3.0 1
v KJ v AT76 v A42 + v QJ 3CE3 110 -3.0 1
+ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
oo VAN 4,643 P VAN 4, KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ + KT5 S ~232~ A8
E ~4~45 &J865 E3~~~2 a3
~4~45 W 3~~~2




1102 F <3 >2RAHEHRFF & ==> Rl
#1: 6 F 7 4E41(20) #2: 2 B 52(15.75) #3: 8 YM twister(14)

1 2 INS: (BHC) 0 11 NS: (FiO) 0 VP:| 10.00 : 10.00| Total VP: 0.00 Rank:
EW: (B0) 0 EW: (EAC) 0 IMP:| 0 0 6
# 1 49 A Mean: 4HN5 450 7.0 1 # 2 a 92 A Mean: 6DS7 1390 12.0 1
v KQ986 A 140 5SXE-2 300 4.0 1 v 2 A 730 A 0.0 4
¢ T65 Dif: 0 NS:-0 A 0.0 4 ¢ A76432 Dif: 0 NS:-0 3NS5 660 20 1
& KJ52 IMP: 0 EW:-0 5SE-2 100 1.0 2 » J853 IMP: 0 EwW:-0 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
e VABN ,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 A Mean: 3HS3 140 10 1 ||# 4 a7 A Mean: 3SW4 170 8.0 2
v AJ75 A 110 3HN3 140 1.0 2 v T32 A -500 A 0.0 4
¢ J97 Dif: 0 NS:-0 A 0.0 4 ¢ QJT86543 Dif: 0 NS:-0 5DXN-2 -500 0.0 1
& K6 IMP: 0 EW:-0 2SN2 110 0.0 1 a4 IMP: 0 EW:-0 4Sw4 -620 3.0 2
& A92 & 543 1NW-1 100 0.0 4 4 KQ8653 a74 3NW3 -600 3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
e VAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ a&QJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 A Mean: 4HS5 650 100 1 ||# 6 & J97642 A Mean: 4SN5 450 80 2
v 987 A 190 4HS4 620 100 2 v A6 A 130 A 0.0 4
¢ 32 Dif: 0 NS:-0 A 0.0 4 ¢ QT32 Dif: 0 NS:-0 3SN3 140 0.0 1
& AJB52 IMP: 0 EW:-0 3HS3 140 20 3 a4 IMP: 0 EW:-0 2SN3 140 0.0 1
& 6542 & KQT7 4HS-2 -200 9.0 1 s K 4 T83 2SN2 110 1.0 1
v A v T32 4SXE4 -590 -13.0 1 v J742 — v KQT85 4SN-1 -50 5.0 2
¢ KJT64 + Q95 * KJ ¢ 754 4SN-2 -100 6.0 1
& T98 & K43 & QT9873 &~ AJ
+eVAN L,A8 d*¢VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 A Mean: 3SwW4 170 9.0 1 [[|# 8 & 854 A Mean: 4SW5 -450 4.0 4
v K9842 A -580 A 0.0 4 v 63 A -590 4SW6 -480 3.0 2
¢ AK Dif: 0 NS:-0 4Sw4 -620 1.0 1 ¢ KQJ2 Dif: 0 NS:-0 A 0.0 4
& J642 IMP: 0 EW:-0 4SW5 -650 20 6 & K532 IMP: 0 EW:-0 6SW6 -980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
+ QT87 ¢ J4 ¢ A ¢ 8743
a» S & KQT7 AT & J64
*eVAN 43 T eVAN 4
N 1~~~~ @5 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 & Q987
~~254 W ~~~53
#9 » T82 A Mean: 4SW-1 100 120 1 # 10 » Q2 A Mean: 3HS3 140 4.0 2
v 8432 A -520 A 0.0 4 v T765 A 0 4CW-1 100 3.0 1
+ Q63 Dif: 0 NS:-0 3NW3 600 20 3 + KQ963 Dif: 0 NS:-0 3NW-1 100 30 1
& KQT IMP: 0 EW:-0 3NE3 -600 20 2 a J7 IMP: 0 EW:-0 A 0.0 4
& AKJ75 & Q9 3NE4 -630 3.0 2 & A95 » J87 3HS-1 -100 3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
e VAN 4,643 %oV AN 4 KT643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ + KT5 S ~232~ ¢Al8
E ~4~45 #J865 E3~~~2 a3
~4~45 W 3~~~2




